Skalby-Barkarby

Partavling 2021-11-09

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb

1 9 137 57.08 Mikael Hoglund - Bo-Géran Jonsson 36078 63320 Alvik BC - Skéalby-Barkarby

2 4 134 55.83 Hé&kan Rédin - Jan-Ake Dahlgren 59051 64844  Skalby-Barkarby

3 5 133 55.42  Lars Sammils - Inga Bud 1125 11740 Hasselby BK - Alvik BC

4 8 132 55.00 Gunnar Lund - Dara Buzgan 2639 66344 Norrorts Bridge - Ej medlem

4 11 132 55.00 Ingrid Pettersson - Kent Sandstrom 28451 8592  Skalby-Barkarby - Hasselby BK

6 6 131 54.58 Jan Stattin - P-O Stattin 7576 11981  Skalby-Barkarby

7 10 123 51.25 Bengt Pettersson - llja Krusnell 90344 25840 BK S:t Erik - Skalby-Barkarby

8 7 122 50.83 Lars Lundsten - Leif Gustafson 9890 2190 SEB Bridge

9 1 110 4583  Ake Hammarsten - Bengt Jensfelt 83590 38602 Alvik BC - Skalby-Barkarby

10 2 107 44,58  Marianne Lundberg - Ulla Bergkrantz 53116 47681 Skalby-Barkarby

10 3 107 4458  Goran Lind - Kerstin Hallgren 14248 6059  Skalby-Barkarby - Enkopings BS

12 12 72 30.00 Margareta Brithéll - Lena Johnsson 93636 44096 Skalby-Barkarby - Ej medlem
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

7 12 49 S= &A 420 1000 00| 2 11 3NV+1l %6 -430 80 20| 7 12 4¢vy N+1 ¢Q 450 10.0 0.0

4 3 54DV-2 vA 300 6.0 40| 4 3 3NV+l &6 -430 80 20|10 5 4vyN= 45 420 80 20

8 6 5¢DV-2 vK 300 6.0 40| 7 12 3NV+1 49 -430 80 20| 9 1 3vS+2 5 200 6.0 4.0

9 1 5¢DV-2 vA 300 60 40|10 5 44 0+1 @7 -450 40 60| 8 6 2NS+2 T 180 40 6.0
10 5 34 S= ¢+K 140 20 80| 8 6 3NV+2 46 -460 20 80| 2 11 3y N+1 ¢Q 170 20 8.0

2 11 5¢ V-2 vA 100 00 100| 9 1 34DO= 7 -530 00 100| 4 3 2NN+1 &3 150 0.0 10.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

8 12 5¢vDS-1 +A -200 80 20| 1 7 2v0-3 &4 150 100 00| 5 4 24 N= ¢A 110 9.0 1.0

9 2 6y N-2 +3 -200 80 20| 3 11 24 0-2 LY 100 50 50| 8 12 24 N= ¢A 110 9.0 1.0
10 6 5#S-2 v5 -200 80 20| 5 4 240-2 ¢+K 100 50 50| 1 7 24 N-2 v8 -100 40 6.0

1 7 464 0= v7 -620 30 70| 8 12 14 0-2 &5 100 50 50| 3 11 34 N-2 + K -100 40 6.0

5 4 44 0= v7 -620 30 70|10 6 24 0O-2 &7 100 50 50| 9 2 34N-2 ¢A -100 40 6.0

3 11 44 O+1 ¥8 -650 00 100| 9 2 INN= 3 90 0.0 10.0|10 6 34 N-3 ¢ A -150 0.0 10.0
7 Syd Alla 8 Vst Ingen 9 Nord OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

1 12 2y N= &7 110 100 00| 1 12 1vy N+1 9 110 100 00|10 7 2NN+2 vJ 180 10.0 0.0

9 3 3¢0-1 v] 100 80 20| 9 3 240= 4 A -90 80 20| 6 5 INN+1 vJ 120 70 30
10 7 INN-1 2 -100 6.0 40| 6 5 2¢DS-1 K -100 50 50| 9 3 2NN= vJ 120 70 3.0
11 4 2¢ O+1 v -110 40 60|11 4 2vyN-2 +9 -100 50 50| 1 12 3NN-1 v] -50 30 7.0

2 8 20 0O+2 ¢3 -130 20 80| 2 8 24V= 2 -110 1.0 90| 2 8 3NN-1 vT -50 30 7.0

6 5 INO+3 &5 -180 0.0 10010 7 24 V= 2 -110 1.0 90|11 4 3NN-2 v8 -100 0.0 10.0
10 Ost Alla 11 Syd Ingen 12 vVast NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

3 1 3NN+1 3 630 90 10|11 5 44DS= &T 590 100 00| 9 4 3+4V-1 &J 50 9.0 1.0
12 2 3NS+1 v7 630 90 10| 3 1 5vDV-2 ¢K 300 80 20|12 2 3NO-1 v2 50 9.0 1.0

7 6 3NS= «T 600 40 60| 7 6 34S+1 &T 170 50 50[10 8 3¢ V= &T -110 6.0 4.0

9 4 3NS= 46 600 40 60| 9 4 3aN+1 #T 170 50 50 7 6 2NO+1 v2 -150 40 6.0
11 5 3NS= *4 600 40 60|12 2 4y V-2 ¢A 100 20 80|11 5 3NO= v3 -400 20 80
10 8 5NN-1 +5 -100 0.0 10.0{10 8 2vyV+1l ¢K -140 00 100| 3 1 3NO+2 v4 -460 0.0 10.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

4 2 1v 0O+l &2 -110 100 00|11 6 INO= v2 90 100 0.0| 8 7 34 N+2 &2 200 0.0 0.0
11 6 3¢ O+1 &5 -130 80 20| 4 2 240= v4 -110 80 20| 9 5 3vyN+1 ¢J 170 80 20

8 7 1v O+3 aA -170 40 60| 8 7 3aV= +Q -140 50 50| 1 10 3aV-1 v4 50 6.0 4.0

9 5 1v O+3 aA -170 40 60| 9 5 340= »2 -140 50 50| 4 2 2¢V= &3 -90 40 6.0
12 3 2vO+2 &5 -170 40 60| 1 10 34 0O0+1 &3 -170 1.0 90|11 6 3#V= ¢ A -110 1.0 9.0

1 10 29 O+3 &A -200 0.0 100|12 3 24 O+2 &7 -170 1.0 90|12 3 3#V= v2 -110 1.0 9.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

7 11 49y N= ¢T 420 100 00| 7 11 44 N= v4 420 100 0.0| 2 10 2NO-4 4K 200 0.0 0.0

5 3 3yN+1 8 170 6.0 40| 1 8 34S+1 +8 170 6.0 40| 1 8 3#V-2 a2 100 80 20

9 6 2y N+2 v8 170 6.0 40| 5 3 24aN+2 94 170 6.0 40| 7 11 2¢ O-1 4K 50 6.0 4.0
12 4 3vy N+1 48 170 60 40| 9 6 24 N+2 +8 170 6.0 40 5 3 2¢ 0= +K -90 40 6.0

2 10 3vy N= 2 140 20 80| 2 10 44 N-1 v8 -50 1.0 90 9 6 2vN-1 ¢ A -100 20 8.0

1 8 4vS-1 +Q -50 0.0 100|12 4 44 S-1 +8 -50 1.0 9.0(12 4 3vyN-2 &K -200 0.0 10.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

2 1 2NS+2 3 180 90 10|12 5 INO-3 v5 300 100 00| 2 1 34S= vT 140 80 20

6 4 2NS+2 49 180 90 10| 2 1 2vS+2 ¢K 170 6.0 40| 3 10 34 S= vT 140 80 20

9 7 24 S+2 v3 170 6.0 40| 6 4 24 S+2 &5 170 6.0 40 9 7 24S+1 T 140 80 20

8 11 2NN-1 v6 -50 30 70| 9 7 2vS+2 ¢K 170 6.0 40| 6 4 24S= vT 110 40 6.0
12 5 3NS-1 +3 -50 30 70| 3 10 2v N+1 #«Q 140 1.0 90| 8 11 4v V-2 «K 100 20 8.0

3 10 3NS-2 *T -100 0.0 10.0| 8 11 3vy N= ¢+Q 140 1.0 90|12 5 24S-1 vT -100 0.0 10.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

4 10 2v V-1 *6 100 100 00| 9 8 6¢DV-1 #A 200 100 00| 6 12 3y S+1 «Q 170 0.0 0.0

3 2 2vV-= *6 -110 50 50| 4 10 5¢ V= &A -600 80 20| 1 11 4¢ S+1 4Q 150 80 20

6 12 2v V= *6 -110 50 50| 6 12 44 V= vK -620 6.0 40| 9 8 3¢S+l &3 130 6.0 4.0

7 5 2vV= *6 -110 50 50| 1 11 54 V= A -650 30 70| 3 2 340-1 vK 50 30 7.0

9 8 2vV= *6 -110 50 50| 3 2 5eV= vK -650 30 70| 7 5 340-1 vA 50 30 7.0
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1 11 29 V+1 &6 -140 0.0 100 7 5 44 0+2 8 -680 0.0 10.0| 4 10 34 O+1 vK -170 0.0 10.0
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